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1. B R pH T

FEARRP: OH +HA=A + H,0

PLLL 0.1000mol/L NaOH 5 20.00ml  0.1000mol/L HAc it it
(1) J¥5ERT: 0.1000mol/L HAc E5fi#

c/Ka =0.1000/1.8x10° > 500, cKa > 25Kw

[H"]=+1.8x10°x0.1000=1.24x10>moIL
pH=2.87
(2) WEHmE &= ST
OH + HAc = Ac +H20

SRR IR R pH = pKa+log LS
[HAC]

i [Ac]= CnaoYiNaor
VivctViao)

[HAC] = ChriciYher — CnaonYNaot
Het T VhaoH
CLA1: CHAc= Cnaon=0.1000 mol/L



VNaOH

pH = pKa+log
HCI +VNaOH
24N 19.98mL NaOH, BIAHXT %7 ~-0.1% )
19.98
H = pKa+lo =1
P P g 20.00+19.98

(3) it E A B 0.05 mol/L Ac &R T /K fid

c _
Ac — 0'0500?0 > 500 Cac Kp>>25Kw
K, 5.6x10

[OH]=./CK, =+/0.05000x5.6x10™" =5.3x10°(mol/L)
pOH=5.28, PH=8.72 (I 7 5 5570
D)
(4) o2 it e
S B NaOH I 7 Ac Tk i
Ac + H,O = HAc + OH"

pH e Tk & NaOH M2, 24iE A 20.02mL NaOH &R, BI  AHXHRE2E
j\j+0.1%ﬁﬂ‘:

~0.1000x0.02
~20.00+20.02

pOH=4.30, pH=9.70
Pl FIR TR R TR B S S ) pH B, BUIIN NaOH ¥ mi Hous #H
LEK) pH AT P R R &

pH
14 r

[OH] =5.0x10°

0 : ' : : B
0 10 20 30 i NaOH AN &

B4 0.1000mol/L NaOH 5B M E N
0. 1000MOL /L. HAc /13 +2 th 2%



2. i MR IRE A (5RO
(1 k& rmm B pH BA1):  Khac < Khel
(2) ZRERIEEVN,  BARFEGRETE P GRS pH SRR
3. UM pH FERIE FE R/ R 3
(D FRIIBEE (K) 2 cuac R, KK, pH SERJEHEBAK,
(2) BRIVKE (¢ 3 K—EN, chac IR, pH RERIEHE K,
[NGE] - BT B IOAERTHEZE < + 0.1%, B ARG BhE R 7ok &
R, pH REREAN 03 DAL, AL, R 45N cKa > 1.0 x 108 4 #&ik
FEER . DR E LA
cKa>1.0x108
1 9 4 07 55 1% R 75 A A 9 7 1) B

pH
14 r

12 ¢

10 -
Ka= 10"

Ka= 10°

Ka= 10

0 10 20 30 4pL NaOHJIA L

K5  0.1000mol/1 NaOH i & W N
0. 1000MOL/L % F5i8 FE A~ [ 8 ()30 o 1h &

(=) SRR E — T g5
e pH ARG KRBV, g fh Z AR S 5B € 99 BRI 15 1A B o
it B U pH O RERERIERR LG

AR 5 ) 2R A cKb>1.0 x 108
fil: HCl ¥ & NHs
TFES pH : 5.28, pH ZREK: 6.30—4.30,

e A: IR
(=) Z TR T



1. 7B E

Z TCIR Sy B E MR RUN (fovFiR2 +£0.5%)
(1) # cKa>108, MIX—HHER) HY AR E
(2) #AHARH Ka 2t > 108 5 LA &, TS e R AN S8 BR vl B 20 JF o AT —
T HYe B e, TR DRIK, IR—REBEW H R0 E, £E6E7E
REK, MPRET cKa 27 >10% ;
(3) HAHLRMI A2 b <10° , W B AN TRERIRAE —il2, RIBM—RER (F
AN H— B 58D
f1: F NaOH (0.1000 mol/L) i 3E 0.1000 mol/L H3POs4 :

H3POs = H' + HPO4 Kai=7.6x1073

HoPOs = HY + HPO4* Ka,=6.3x108

HPOZ = H*+ PO Kag=4.4x1012
cKa; > 10 cKaz ~ 108 cKaz < 108
Kai / Kaz > 10° Kaz / Kag > 10°

HsPOs 28— NJefilii € — HoPOs , FE5 —iH & MR RGE — N ER; HaPOs
JERER B — HPOW> F2AE 3 /NSRS
2. PR AEE pH AT R AR R R

% TR € 1 R T R ) LR S e M 2R LU IR O, B R R AR R
AR pH ME, SRS AE I T e 48 7w ) o
f1: F 0.1000mol/L NaOH {5 20.00ml 0.1000mol/L H3PO4

iR HsPOs + OH = HPOs + H,0

FEMl e HoPOs, HONBR(EE, ¢ O 0.05mollL,
i) c Kaz = 0.05 x 6.3 x 10 > 20 Kw,
c=0.05 < 20 Ka; = 20 x 7.6 x 10°3

-3 -8
o] [oKa K, :\/0.05><7.6><_;LO ><6.3xio —20%10-5mol /L
c+ Ka, 7.6x107 +5.0x10

pH=4.74

TR



(1) R Ep= (3.0-4.6), &5 pH N 4.6, #ZEE-035% N
(2) FERE (3.1—4.4), &5 pH N 44, RETE-05% W
% iR A HPOs = H + HPOL
FEPIiE HPOS , HOoNmREE, ¢ 24 0.1000/3 moliL,
Jigin) ¢ Kaz = (0.1000/3) x 4.4 x 1075 = Kw,
¢ >20 Ka; =20 x 6.5 x 108

6.3x107%(4.4x107"% x 01200 +1.0x10*)

H]= \/Kaz(cKaS +Kw)
C 0.1000/3

=2.2 x 10 ( mol/L)

pH=9.66



